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LOGARITHM
The product of all positive real values of x satisfying the equation

X(lé(logsx)3—6810g5x) _ 5—16
is . [JEE(Advanced) 2022]
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The value of ((1og2 9)> )logz (02,9) 5 (f7 )10z 7 g . [JEE(Advanced) 2018]
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SOLUTIONS
1. Ans. (1)

Sol. XI6(log5X)3—6810g5X _ 516

Take log to the base 5 on both sides and put
log,x=t

16t — 682 + 16 =0
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t
4 2 t2
=4t"-17t"+4=0 .
t,
ti+ttp+t3+t4=0
log; x, +log, x, +log, x; +log;x, =0
X, X,X,;X, =1

2. Ans. (8)

2 1/2
Sol. log, 9"’  7loe:

210g2 ll01‘%74
= (1og2 9) log29 x 72

=4x2=8
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